\ A‘SM E ML \
Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ana Moaseckn W Pyns YnpasneHus A L FA RO M E 0

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

AR 6 04/1985 -> 12/1989
AR 8 04/1978 -> 12/1989

b —

17FI13000 20AR0100 20AR0100 17FI3000

o, ©

ALFA ROMEO

T0FI3000 10FI3000

As Metal Ref. Aciklama Orijinal Kod
Koa As Metal Description / Pa3bsicHeHue Original Number / OpurnHanbHblili Kog

Rotil Alt

10FI3000 Ball Joint Lower 3640.18 / 438 8159
LLlaposas onopa HuxHas
Rotbasi M16x1,5 Sag Dis

17FI3000 Tie Rod End M16x1,5 RHT SIS
HakoHeuHuK pyneBoii Tarm  M16x1,5 MpaBas pesbba 9750 079 980

Rotmili M16x1,5 Sag Dis 9750 390 080 / 9750 001 180
20AR0100 Axial Joint M16x1,5 RHT 3812.27 /979 000 2680
Tara pyneBas M16x1,5 NpaBas Pe3bba 0242.12 / 1201.E1

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

147 01/2001 ->
156 10/2000 ->
(1) 11/2003 ->

26AR1000

Aciklama Orijinal Kod

Description / Pa3bsicHeHue Original Number / OpuvrnHanbHsbili Kog

Viraj “Z” Rotu On
26AR1000 Link Stabilizer Front 468 433 89 / 606 250 29
Tara ctabunmsatopa MNepeaHss

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

n Product Catalogue 2013 www.asmetal.com




ALFA ROMEO

SOL / LEFT / NEBAA

)

Y

17AR1500

10AR1500

As Metal Ref. Aciklama
Kog As Metal Description / Pa3bsacHeHune

Rotil Alt
10AR1500 Ball Joint Lower
LLlaposas onopa HuxHas
Rotbasi M14x1,5 Sag Dis
17AR1500 Tie Rod End M14x1,5 RHT
HakoHeuHwK pyneBoii Tarm  M14x1,5 MpaBas pe3bba

\ASMETAL A

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

SAG / RIGHT / MPABAS
164 06/1987 -> 09/1998
®

S

17AR1500

10AR1500

Original Number / OpuruHanbHbIii Kog

605 103 60 / 824 464 99 / 164 102 101 900
605 560 32 / 605 666 61 /608 014 25
82398170
6050 7918 / 6051 1622
8238 7676 / 9939 556
8239 2503

SOL / LEFT / NEBAA

145 10/1994->01/2001
146 12/1994->01/2001

—

17F14550

-

17F16000

As Metal Ref.

Aciklama
Kog As Metal

Description / Pa3bsicHeHue

M12x1,5 Sag Dis
M12x1,5 RHT
M12x1,5 NpaBas pe3bba

M12x1,5 Sag Dis
M12x1,5 RHT
M12x1,5 NpaBas pe3bba

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 NpaBas pe3bba

Rotbasi
Tie Rod End
HakoHeuUHWK pyneBoii Tarn

Rotbasi
17F14550 Tie Rod End
HakoHeUHK pyneBoii Tarn
Rotbasi
17F16000 Tie Rod End
HakoHeuHWK pyneBoii Taru

17FI4530

SAG / RIGHT / NMPABAA

155 01/1992->12/1997
GTV / SPIDER 06/1995->04/2005

— &

17F14530

—

17F16000

Orijinal Kod
Original Number / OpurnHanbHblili Kog
754 5583/759 1215/767 8717
608 09613 / 608 09494
994 74 38 / 995 06 72
754 5582/759 1216/767 87 18
608 09612 / 608 09495
994 74 37 /995 06 71
994 7714
994 7719
988 450 30

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com “

ALFA ROMEO




\ ASMETAL

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ana Moaseckn W Pyns YnpasneHus

®

o
w
=
o
(=4
<L
™
-
<<

260P1505

As Metal Ref.
Koa As Metal

10FI3505

17FI3505

17FI3506

200P1505

260P1505

38FI5507

17FI3505

SOL / LEFT / NEBAA

Mito 09/2008->

L—-—-—‘- -'——-—-5

200P1505 17FI13506

38FI5507

200P1505
10FI3505
Aciklama
Description / PasbsicHeHue

Rotil Alt
Ball Joint Lower
LLlapoBas onopa HuxHss
Rotbasi M14x1,5 Sag Dis
Tie Rod End M14x1,5 RHT
HakoHeuHuK pyneBoii Tarm  M14x1,5 MpaBas pe3bba
Rotbasi M14x1,5 Sag Dis
Tie Rod End M14x1,5 RHT
HakoHeuHwuK pynesoii Tarm  M14x1,5 MpaBas pe3bba
Rotmili M14x1.5 Sag Dis
Axial Joint M14x1,5 RHT
Tara pynesas M14x1,5 NpaBas Pe3bba
Viraj “Z” Rotu On
Link Stabilizer Front
Tara ctabunmsatopa MepeaHss

Salincak Burcu
Wishbone Bushing
CaiineHT6n0K Pbluara

ALFA ROMEO

SAG / RIGHT / NMPABAA

10FI3505

260P1505

Orijinal Kod
Original Number / OpurnHanbHbIi Kog
51783 057 /51 783 056 / 3520 W3
352156 /352 087 / 352 067
93 190 907 / 93 188 808
1609 457 / 1603 544 / 3817 86 / 773 64 568
773 63 829 /931 96 541
93189023
1603 545 /3817 87
773 64 569 /773 63 830
931 89 024

16 03 543/16 09 456
93 189 022/93 196 540

55700753 /350175
350616/13 321 280

“517 83 057 / 517 83 056
518 11 978 /518 22 8120
55700 751 /3520 W3/3521 S6”

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com




